AA8 Answers to Selected Exercises

80. a. F =30+ 5x;F =75x 81. does not make sense 82. makes sense 83. does not make sense ~ 84. does not makef
b. 12 85. North campus had 600 students; South campus had 400 students. 86. $200 :
87. Coburn = 60 years old; woman = 20 yearsold  88. 10 correct answers
89. $4000 for the mother; $8000 for the boy; $2000 for the girl ~ 90. 36 plants :
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¢. (12, 90); For 12 hours, both options
cost the same, $90.
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Exercise Set 1.4
L 8=—2i 2 2+ 5i 3. -2+9 4, 2 + 16i 524 —3i 633 =1 7. =14+ 1% 8. —12 + 26i =2 11450 10. 16
1L =19+ 7 12. —4 —28; 13.5=29 =11; 14. 12 + 84i 15. 34 16. 53 17. 26 18. 50 195y 20. 21
e 12 3% : : 24327 12:-18: et : -
e = - = .1+ . - L=+ = - - e . — . 30
21 5 51 22 7 171 23. 114 24. 11+ 2 25 25+251 26 3 131 27 5 +51 28. —1 29, 3; 30
3. 47 32192 33 -8 34.16+300 35.2+6VT 36 —7-4VIiL 3. —% - i—\é@ 38. ——;— - i% 39.
40. —15—1 = i% 4l -2V6 — 2iVI0 42 —4V3-2iV6  43.24VI5 44 —12Vid 45 —11-5i 46, 23 + 10i
: : - 2 2 ; 2B =30, 3. 4
47. -5 + 10i 48. 18 — 12i 49, 0 + 47i or 47i 50. 0 + 191\/5 or 191\/5 51. 0 5250 53 E : 4 El 54, ——5- = g‘l

55. (47 + 13i)volts  56. (21 + i) volts  57. (5 +iVI5) + (5 — iVI5) = 16;(5 + iVIS)(5 — iV15) =25 — 152 =25+ 15 =40
67. makes sense 68. does not make sense 69. does not make sense 70. makes sense 71. false 72. false 73. false 74.

4= 2 5 - % g i5 )
95 & 95 2 3 =t L (2x = + 79. (x — 3)(x — =3 80. —5
o= M6 o ¥ Gore. W g ¥ TRl 1) (x — 3)(x = 3) or (x — 3)
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Check Point Exercises

1. a. {0,3} b {—1,%} 2.0 (-V7,VT} b.{-3,3} c{-5+VI,-5-VIl} 3.a9%P+6x+9=(x+3)

05 - 25 592 1 Dea il ( 1)2 {—3+\/41 —3—\/ﬁ} {—1+\/§
e == -= =2+ x+ - = + = 4. {- 5. ; 6. \———==
b. ik S¥ 2 (x 2) C 9,x2 Padir x+3 { Zi\/g} 2 2 2
S B 8. a. 0;one real solution that is rational ~ b. 81; two rational solutions ¢. —44; two imaginary solutions that
are complex conjugates 9. approximately 26 years old 10. 20 in.

Exercise Set 1.5
L Eos] A9 S5E &< & {—%%} 6. {—%—%} 7. {-g,z} 8. {%3} 9. (4,0}

10. {0,4} 1L {o%} 12. {%} 1B.{-31 1 {%1} 15. {-3,3} 16.{-3,3} 17.{-VI0,VI0} 18. {=4,4}

19, {£5i} 20 {£2i} 2L {-7,3} 22 {-3,9} 23. {4£V5} 24 {-4xV7} 25 {-3%4i} 26 {13}

: : 554 3.5 1-V7I1+V7 3-vV53+V5
27. {3+iV5} 28, {-2+iVT} 29. {—5,5 30.{ 4,4} 31.{ = } 32.{ —wre }

33. {4—_32—\@—%\/2} 34.{_8 '23\/5,_8 +23\/§} 35. 3622 + 12x +36 = (x + 6)° 36, 64;2% + 16x + 64 = (x + 8)?

= > 5 z 0 LT 3)2 25 253

37. 25; 2 — 10x + 25 = (x — 5) 38. 49; x> —14x +49=(x—7) 39.Z,x +3x+z— x+§ 40.T;x2+5x+7— X
49 49 7)\? 81 , 81 ( 9)2 8 =59 ( 1)2 4 4 4

9 ,_ W f 7 S e Y a2 Aol -1 RS e
41. iR Tx + . (x 2) 42 ik 9x % s 43 gE=35ty =2 44 25,x2+5x 2

B R S R e S Fe e -
45 —x*——x+ —(x 6) 46. ;¥ 4x+64—(x 8) 47. {-7,1} 8. {-4,-2} 4. {1+ V3,1 3}

50. {62} SL{3+2V53-2V5 5. {1+V61-V6} 5 {-2+V3-2-V3} 54 {-3+V14,-3- V14
.03 Ba{-81}. 5. {—3 e Bhneie VE} 58, {3—+@ ﬂ} 59. {1,3} 60. {—3,%}

SEE S g T 2
&y {1 +2\ﬁ’1 —2\/2} & {2 +2\/6,2 —2\/6} &, {1 +3\f7,1 —3\ﬁ} e {5 - 6\/145’5 - 6\/145} 65. (=5, -3}
6. (~6,~2}  61. {‘5 o —2\/1_3} = {—5 £ VT 3 —2\/ﬁ} s {3 + VT 3 —6\/5—7}




	IMG_0002

